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Short answer questions/problems

Use the following financial statements for Target to answer questions 1 through 3.

1.  Calculate Target’s ROE using DuPont Analysis for fiscal year 2003 (ended January 31, 2004).
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2.  What does DuPont Analysis reveal that simply calculating ROE does not?
Determinants of ROE by examining ROE as a product of profit margin, total asset turnover, and equity multiplier (leverage).

3.  How would you determine whether Target’s ROE reveals something positive or something negative about the firm?
Compare to industry average and changes in ratios for Target over time.

4.  Assume you are calculating Eastman Kodak’s EVA for 2003 using the Harnischfeger approach.  What number would you use for Capitalized R&D assuming the following information regarding Eastman Kodak’s R&D spending for the last 10 years?

Eastman Kodak’s R&D spending for the last 10 years:  2003 = 781; 2002 = 762; 2001 = 779; 2000 = 784; 
1999 = 817; 1998 = 830; 1997 = 715; 1996 = 700; 1995 = 651; 1994 = 532?
2348.4 = 762 + .8(779) + .6(784) + .4(817) + .2(830)

5.  Assume you have just deposited money in an account that pays an interest rate of 1.6% per year compounded continuously.  What is the effective rate per quarter on this account?
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6.  Two months from today, you plan to make the first of 20 monthly deposits into a savings account.  Your first deposit will be $1000 and you plan to increase your deposits by 1% each.  Two years from today, you plan to make the first of 10 annual withdrawals from this account.  What sequence of calculations will allow you to solve for how large you can make your annual withdrawals?  What would you solve for?
Timeline:  Monthly deposits start at month 2 and continue through month 21, annual withdrawals start at year 2 and continue through year 11.  

Sequence:  future value of growing annuity, present value of lump sum, present value of annuity where solve for payment.
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7.  Assume you are considering investing in Albertsons (lowest risk, lowest return), Ford, and Gateway (highest risk, highest return).  Sketch a graph of the risk and return offered by these 3 stocks individually and a reasonable efficient set when combining the 3 stocks into a portfolio.
Description of graph:  Albertsons is lowest and furthest to the left, Gateway is highest and furthest to the right, the efficient set starts at Gateway and extends down and to the left (to the left of Albertsons).

8.  On the same graph you drew to answer question 7, sketch the best possible return you can expect to earn for the risk if you put 25% of your money in T-bills and the remaining 75% of your money in the best possible combination of Albertsons, Ford and Gateway.
Description of graph:  line extends from risk-free rate to point of tangency on efficient set (in 7).  You are between the risk-free intercept and the point of tangency but closer to the point of tangency than the intercept.  

9.  Assume you sell a call on General Motors with an exercise price of $50 per share.  Sketch a graph of the payoff on this call as a function of General Motor’s stock price and label your specific payoff if GM’s stock price rises to $52 per share.

[image: image4]
10.  On Thursday, June 10th, the closing price for Dell was $35.10.  The closing price for a call that expires on August 20th (71 days later) with an exercise price of $37.50 was $0.50 and for a put with the same expiration and exercise price was $2.85.  The APR on a T-bill maturing on August 19th is 1.19% (assuming continuous compounding).  Does this information violate put-call parity?  Justify your answer.
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=> put-call parity does not hold exactly.
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Problems/Essays

1.  Assume your boss has asked you to calculate Target’s capital so that he can calculate Target’s EVA for fiscal year 2003 (ended January 31, 2004) using the Harnischfeger approach.  Using the information on the following pages, what number would you give your boss?


Operating cash
758
plus:
Receivables
5565

Inventory
4812
= 4760 + 52

Other Current Assets
104
= 852 - 748

P&E
15,307

Intangible Assets
0

Capitalized R&D
0

Other Assets
1361
less:
Current liabilities
(6548)
= 7523 – 975 = 4684 + 1545 + 319
Capital

21,359
2.  You have just deposited $50,000 into a savings account that pays an interest rate of 4% per year compounded monthly.  You plan to begin making quarterly withdrawals from this account 2 years from today.  You would like for each withdrawal to be 0.4% larger than the previous one and would like to continue making withdrawals through 5 years from today.  How large will be your final withdrawal from the account?

[image: image6.wmf](

)

0033333

.

12

04

.

12

1

=

=

r



[image: image7.wmf](

)

(

)

01003

.

1

00333333

.

1

3

4

1

=

-

=

r



[image: image8.wmf](

)

17

.

619

,

53

01033

.

1

000

,

50

7

1

4

3

=

=

V



[image: image9.wmf]33

.

4317

01003

.

1

004

.

1

1

004

.

01003

.

17

.

619

,

53

1

13

1

=

=>

÷

÷

ø

ö

ç

ç

è

æ

÷

ø

ö

ç

è

æ

-

÷

ø

ö

ç

è

æ

-

=

C

C



[image: image10.wmf](

)

18

.

4529

004

.

1

33

.

4317

12

13

=

=

C


Key to Exam I; F4360; Summer, 2004; page 4 of 8

3.  Based on the following 4 years of returns on JPMorganChase and the S&P500, what is your best estimate of the variance of returns on JPMorganChase and on the S&P500 and of the beta of JPMortganChase?  What does this information reveal about JPMorganChase’s risk compared to the S&P500?

Return on:

Year
JPM
S&P500


2003
58
34

2002
-34
-28

2001
-20
-13

2000
-12
-9
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=> JPM has more total risk than market (riskier when held by itself)
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4.  You are considering purchasing 5 calls on Pulpsi Inc. (a new, high pulp citrus juice marketer).  Given the following information, what is the most you would be willing to pay for these calls?  

Information on call:

Expiration = 6 months; exercise price = $35; standard deviation of returns = 62%; 

Information on Pulpsi’s assets:

Average life = 10 years; standard deviation of returns = 29%
Information on Pulpsi’s outstanding stock:

Number of shares = 3,000,000; Market value per share = $38; book value per share = $15; standard deviation of returns = 43%

Information on Pulpsi’s outstanding bonds:  

Number of bonds = 100,000; market vale per bond = $1150; book value per bond = $1000; standard deviation of returns = 15%; maturity = 6 years; yield to maturity (APR assuming continuous compounding) = 7%
Information on marketable securities held by Pulpsi:

Market value = $15,000,000; maturity = 3 months; standard deviation of returns = 12%; standard deviation of returns = 6%; yield to maturity (APR assuming continuous compounding) = 3%
Yield to maturity (APR’s assuming continuous compounding) on Treasury strips:  3-mo = 1.25%; 6-mo = 1.55%; 6-year = 4.36%; 10-year = 5.23%; 
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Cost = 6.30(5)(100) = 3150
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Additional Information on Target Corporation:

Inventory 

       Substantially all of our inventory and the related cost of sales is accounted for under the retail inventory accounting method using the last-in, first-out (LIFO) basis. Inventory is stated at the lower of LIFO cost or market. The cumulative LIFO provision was $25 million and $52 million at year-end 2003 and 2002, respectively. 

Net Deferred Tax Asset/(Liability) 

       Other current assets includes deferred tax assets of $800 million and $748 million at year-end 2003 and 2002, respectively.  Deferred income taxes and other includes deferred tax liabilities of $1289 million and $988 million at year-end 2003 and 2002, respectively.  
CONSOLIDATED RESULTS OF OPERATIONS FOR TARGET CORPORATION

	
	
	2003 
	
	2002 
	
	2001 
	

	
	
	(millions, except per share data) 


	

	Sales 
	
	$ 
	46,781 
	
	$ 
	42,722 
	
	$ 
	39,114 
	

	Net credit card revenues 
	
	
	1,382 
	
	
	1,195 
	
	
	712 
	

	
	Total revenues 
	
	
	48,163 
	
	
	43,917 
	
	
	39,826 
	

	Cost of sales 
	
	
	31,790 
	
	
	29,260 
	
	
	27,143 
	

	Selling, general and administrative expense 
	
	
	10,696 
	
	
	9,416 
	
	
	8,461 
	

	Credit card expense 
	
	
	838 
	
	
	765 
	
	
	463 
	

	Depreciation and amortization 
	
	
	1,320 
	
	
	1,212 
	
	
	1,079 
	

	Interest expense 
	
	
	559 
	
	
	588 
	
	
	473 
	

	Earnings before income taxes 
	
	
	2,960 
	
	
	2,676 
	
	
	2,207 
	

	Provision for income taxes 
	
	
	1,119 
	
	
	1,022 
	
	
	839 
	

	Net earnings 
	
	$ 
	1,841 
	
	$ 
	1,654 
	
	$ 
	1,368 
	

	Basic earnings per share 
	
	$ 
	2.02 
	
	$ 
	1.82 
	
	$ 
	1.52 
	

	Diluted earnings per share 
	
	$ 
	2.01 
	
	$ 
	1.81 
	
	$ 
	1.50 
	

	Weighted average common shares outstanding: 
	
	
	
	
	
	
	
	
	
	

	
	Basic 
	
	
	911.0 
	
	
	908.0 
	
	
	901.5 
	

	
	Diluted 
	
	
	917.1 
	
	
	914.0 
	
	
	909.8 
	


Key to Exam I; F4360; Summer, 2004; page 7 of 8

CONSOLIDATED STATEMENTS OF FINANCIAL POSITION FOR TARGET CORPORATION

	
	
	January 31, 

2004 
	
	February 1, 

2003 
	
	

	
	
	(millions) 


	
	

	Assets 
	
	
	
	
	
	
	
	

	Cash and cash equivalents 
	
	$ 
	716 
	
	$ 
	758 
	
	

	Accounts receivable, net 
	
	
	5,776 
	
	
	5,565 
	
	

	Inventory 
	
	
	5,343 
	
	
	4,760 
	
	

	Other 
	
	
	1,093 
	
	
	852 
	
	

	
	Total current assets 
	
	
	12,928 
	
	
	11,935 
	
	

	Property and equipment 
	
	
	
	
	
	
	
	

	
	Land 
	
	
	3,629 
	
	
	3,236 
	
	

	
	Buildings and improvements 
	
	
	13,091 
	
	
	11,527 
	
	

	
	Fixtures and equipment 
	
	
	5,432 
	
	
	4,983 
	
	

	
	Construction-in-progress 
	
	
	995 
	
	
	1,190 
	
	

	
	Accumulated depreciation 
	
	
	(6,178 
	) 
	
	(5,629 
	) 
	

	
	Property and equipment, net 
	
	
	16,969 
	
	
	15,307 
	
	

	Other 
	
	
	1,495 
	
	
	1,361 
	
	

	Total assets 
	
	$ 
	31,392 
	
	$ 
	28,603 
	
	

	Liabilities and shareholders' investment 
	
	
	
	
	
	
	
	

	Accounts payable 
	
	$ 
	5,448 
	
	$ 
	4,684 
	
	

	Accrued liabilities 
	
	
	1,618 
	
	
	1,545 
	
	

	Income taxes payable 
	
	
	382 
	
	
	319 
	
	

	Current portion of long-term debt and notes payable 
	
	
	866 
	
	
	975 
	
	

	
	Total current liabilities 
	
	
	8,314 
	
	
	7,523 
	
	

	Long-term debt 
	
	
	10,217 
	
	
	10,186 
	
	

	Deferred income taxes and other 
	
	
	1,796 
	
	
	1,451 
	
	

	Shareholders' investment 
	
	
	
	
	
	
	
	

	
	Common stock* 
	
	
	76 
	
	
	76 
	
	

	
	Additional paid-in-capital 
	
	
	1,341 
	
	
	1,256 
	
	

	
	Retained earnings 
	
	
	9,645 
	
	
	8,107 
	
	

	
	Accumulated other comprehensive income 
	
	
	3 
	
	
	4 
	
	

	
	Total shareholders' investment 
	
	
	11,065 
	
	
	9,443 
	
	

	Total liabilities and shareholders' investment 
	
	$ 
	31,392 
	
	$ 
	28,603 
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CONSOLIDATED STATEMENTS OF CASH FLOWS FOR TARGET CORPORATION

	
	
	2003 
	
	2002 
	
	2001 
	
	

	
	
	(millions) 


	
	

	Operating activities 
	
	
	
	
	
	
	
	
	
	
	

	Net earnings 
	
	$ 
	1,841 
	
	$ 
	1,654 
	
	$ 
	1,368 
	
	

	Reconciliation to cash flow: 
	
	
	
	
	
	
	
	
	
	
	

	
	Depreciation and amortization 
	
	
	1,320 
	
	
	1,212 
	
	
	1,079 
	
	

	
	Bad debt provision 
	
	
	532 
	
	
	460 
	
	
	230 
	
	

	
	Deferred tax provision 
	
	
	249 
	
	
	248 
	
	
	49 
	
	

	
	Loss on disposal of fixed assets, net 
	
	
	54 
	
	
	67 
	
	
	52 
	
	

	
	Other non-cash items affecting earnings 
	
	
	11 
	
	
	159 
	
	
	160 
	
	

	
	Changes in operating accounts providing/(requiring) cash: 
	
	
	
	
	
	
	
	
	
	
	

	
	
	Accounts receivable 
	
	
	(744 
	) 
	
	(2,194 
	) 
	
	(1,193 
	) 
	

	
	
	Inventory 
	
	
	(583 
	) 
	
	(311 
	) 
	
	(201 
	) 
	

	
	
	Other current assets 
	
	
	(255 
	) 
	
	15 
	
	
	(91 
	) 
	

	
	
	Other assets 
	
	
	(196 
	) 
	
	(174 
	) 
	
	(178 
	) 
	

	
	
	Accounts payable 
	
	
	764 
	
	
	524 
	
	
	584 
	
	

	
	
	Accrued liabilities 
	
	
	57 
	
	
	(21 
	) 
	
	29 
	
	

	
	
	Income taxes payable 
	
	
	91 
	
	
	(79 
	) 
	
	124 
	
	

	
	Other 
	
	
	19 
	
	
	30 
	
	
	— 
	
	

	
	Cash flow provided by operations 
	
	
	3,160 
	
	
	1,590 
	
	
	2,012 
	
	

	Investing activities 
	
	
	
	
	
	
	
	
	
	
	

	
	Expenditures for property and equipment 
	
	
	(3,004 
	) 
	
	(3,221 
	) 
	
	(3,163 
	) 
	

	
	Increase in receivable-backed securities 
	
	
	— 
	
	
	— 
	
	
	(174 
	) 
	

	
	Proceeds from disposals of property and equipment 
	
	
	85 
	
	
	32 
	
	
	32 
	
	

	
	Other 
	
	
	— 
	
	
	— 
	
	
	(5 
	) 
	

	
	Cash flow required for investing activities 
	
	
	(2,919 
	) 
	
	(3,189 
	) 
	
	(3,310 
	) 
	

	Financing activities 
	
	
	
	
	
	
	
	
	
	
	

	
	Decrease in notes payable, net 
	
	
	(100 
	) 
	
	— 
	
	
	(808 
	) 
	

	
	Additions to long-term debt 
	
	
	1,200 
	
	
	3,153 
	
	
	3,250 
	
	

	
	Reductions of long-term debt 
	
	
	(1,172 
	) 
	
	(1,071 
	) 
	
	(793 
	) 
	

	
	Dividends paid 
	
	
	(237 
	) 
	
	(218 
	) 
	
	(203 
	) 
	

	
	Repurchase of stock 
	
	
	— 
	
	
	(14 
	) 
	
	(20 
	) 
	

	
	Other 
	
	
	26 
	
	
	8 
	
	
	15 
	
	

	
	Cash flow (required for)/provided by financing activities 
	
	
	(283 
	) 
	
	1,858 
	
	
	1,441 
	
	

	Net (decrease)/increase in cash and cash equivalents 
	
	
	(42 
	) 
	
	259 
	
	
	143 
	
	

	Cash and cash equivalents at beginning of year 
	
	
	758 
	
	
	499 
	
	
	356 
	
	

	Cash and cash equivalents at end of year 
	
	$ 
	716 
	
	$ 
	758 
	
	$ 
	499 
	
	


Payoff





$50





$52





-$2





GM Price
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